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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017

Time Allotted: 4 Hours

The figures in the margin indicate full marks. NS 51T TIT TG TN e F7 1
Candidates should answer in their own words AN TS ST TR TEI AT TG
and adhere to the word limit as practicable. &7 IR
Group-A
(Full Marks-50)
fem-=

(F-eo)
Answer any one Optional Paper.
- @36 e *ta T )
(Vedantasara | RWIS7)
Answer Question No. 1 and any two from the rest within 600 words each.
SR &l @ WA (R-(FIR ¥f5 evaa Bew afefb voo itz sy i)

1. Answer any four questions from the following within 150 words each: 5x4 =20

efeiRe @-@r=t 516 avea e afefb seo *=ma Wy e

(a) Why is the text ‘vedantasara’ called ‘prakarana grantha’?

@RISR AT STV I T (T 2
(b) What are individual ignorance and collective ignorance?
& o@ ¢ TR e FIE 30 2
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(c) Differentiate between Susupti and Nirvikalpaka Samadhi.
3% @k s sifea cow ot s

(d) What is ‘Nitya’ and ‘Naimittika Karma’?
o etafifer s ¢

(¢) What is ‘Anubandha’?

R R

(f) How are the five great elements (Paficamahabhiita) produced?
ARG PO Teoln 2 7

(g) What is Upasana? What is the necessity of Upasana?
TA IS I 2 S @Acae F 2

(h) Distinguish between Vastu and Avastu.
JE @ G W AL I |

2. Explain how the statement “7Tattvamasi” leads to the awarness that Jivatman
and Brahman are identical.

TGN AP (AT G € 0 NCONR N [FOI BLAF Z7 ©f ) T |

3. Why does Sadananda Yogindra describe Ajiiana as ‘Yatkificit’ in
Vedantasara? Explain its significance. If Ajfiana is regarded as ‘Yatkificit’,
then how can it be established by him?

R N ‘RIS &0 (I SIeAHTE SR TR’ — T 35671 Feaved 2
wrel qefFlee gt St B o e e sres ¢

4. Explain fully the Svarapalaksana and Tatasthalaksana of Brahman
following the Magaldacarana of Vedantasara.

(ARG STE WD CANPIPHIC JCA FH{eTFo! @ CHzeTwe! {FICH N Feey |

5. (a) Distinguish between Nimitta karana and Upadana Karana.
Afreizd  Teiiia SR Wy ANdref & [ 2

(b) Explain after Vedantasara, how I$vara can be regarded as both Nimitta and
Upadana karan of Jagat.

@RISR &% SR A fAfCSivivag [Fois Sesi 20 I 32
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6. Discuss how the author of Vedantasara refute the Carvaka view that the 15
‘self is identical with the body’.

(T2 A —BIEFTR G2 TSIW ([WBHIR ATHR 51O SN Q0w IR ¢

(Ryle / 21%#)

Answer Question No. 1 and any twe from the rest within 600 words
each.

SR e € WoIF (F-CF 76 eraa Tew afefb voo it wwg )

i Answer any four questions from the following within 150 words each: 5x4=20

fefeiRe @-coW o1afe aves Tex afef seo *twa sy e
(a) How does Ryle distinguish between ability and propositional knowledge?
A2H PO NG 8 BT Wt AL FCA0ZA 9
(b) Discuss after Ryle the ‘dogma of the ghost in the machine’.
AR TSI THNGE QOO FIRFT A T84 |
(c) What is the mind-body interactionism? Discuss.
(R AR P - S Feee |

(d) What is the difference between the ‘dispositional terms’ and the ‘occurrent
terms’?

‘el fATapIR *0 @R “TONA #1033 e~ N 2
(e) What is ‘self-knowledge’? Discuss in brief.
S i 9 FKCHC S 54|
(f) Distinguish between voluntary and involuntary actions after Ryle.
A2 TP F0F AfoRT 43R SRS i g 21 I
(g) Explain after Ryle the nature of consciousness.
AR TSR GO T I o |
(h) What is an explanation? How does Ryle make differences in explanation?
G 2 Ryle IO JINR N2 AL FTACRA ?
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2. What is called category mistake? Critically discuss after Ryle in what 5+10
respect the official doctrine involves category mistake.

e T FICF A ¢ R TR T CF9 2fSfPe Toam Freig @fiere aifen
SRTE 2 ARA-(F PR IR ARG SN 64|

3. What according to Ryle is retrospection? Explain after Ryle the notion of 5+10
retrospection in the context of self knowledge.

AT TS G Ft 9 TG 20X XA W ai2eitfB iyt 741

4. Discuss in detail the difference between single-track and multi-track 15
disposition.

G &3] 8 I RSN #H14F) RFOOIT AL T4 1

5. Critically discuss Ryle’s theory of self. 15
Y AN AR OG0 AIBI AEAG I |

(Logic / S¥tqwt)

Answer Question No. 1 and any rwo more from Section-I and Section-II
taking one from each section

SR &P SRS, RTIe A8-) IR 48-} (ATF (I-(FHE 6 I
Wit 78 evew e fom)

1. Answer any four questions from the following: 5x4 =20
i @-W o1afe eivem e fame

(a) Explain the principle of Extensionality for sets.
@A SRS IABPETR (G g1 w2

(b) Prove that the empty set is a subset of every set.
AT T =oY@ @ @ T To-@)

(c) What is counter example? Give an example.

4T RIS FICF A ? G0 Twgget ey
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(d) What is ‘Binary Relation’? Explain with an example.
&2 3l Binary 7% S0 305 ¢ G0 1218 FREAN I I8+ |

(e) Explain the relation of symmetric, asymmetric and antisymmetric with
examples.

ST, REATYA GFR ST FF TRIZF FLANS N A |
(f) How can the truth tree method be used to test logical implication?

TP Efed AR Fer @fes afesfs R saame

(g) What are the domain, counter domain and field of the relation of being a
father?

“foret 267 T9%F domain, counter domain @R field @ a1
(h) Discuss, in brief, Russell’s view on Entailment.
e 77 RE0T ACTER TS FKCHCH WCEAGA F56+1 |

Section-1 / 98-

2. (a) Translate the following sentences using set theoretic notation: 3
fAsfie et @ B AR e swa:
(1) Planets are nine.
%A A A |
(i1) All coffee drinkers drink either tea or wine.
FR FREAFSINA T B A I 3 IR FEA |
(iii) Apples and Oranges are delicious and nutritious.
GLofE QR FHAIER T € A3
(b) Which of the following statements are true for all sets A, B and C? 1+1
A, B '8 C (7063 (e fawforie asaefem @mefs e ¢
()IfAcBandBc C then~(CcA)
TMAcBERB c C WO ~ (C c A) TR
(i) IfAcBand BeC, then B c C.
I AcBER BeC W, 9@B c C A
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(c) Give an example of sets A, B, C, D, E satisfying the following conditions:
A, B, C D, E (53 @3 @316 Trrezet i 7t fasfeRe »dafer oz wat3s
AcB
BeC
CeD
D=E

(d) Letting A = {1}, B= {1, {1}}, C= {1,2}, D= {1, {1, {1}}} which of the
following are true?

A={1},B={1, {1}},C={1,2},D={l, {1, {1}}} == fasfeRoales sy
I 3797 9
(i)AcB (i) D~BcA (iii)B~AeD

(e) What is meant by ‘domain of individuals’? Let V be the set of all positive
integers and let

A = the set of all even positive integers

B = the set of all odd positive integers

C = the set of all positive integers greater than 10

D = the set of all positive integers less than 15.
Find: (i)(AnD)~(~B) (ii) A~(~CuUD)
‘e [ 3700 fF QIRE? 11 TF, V 26 e LS IR 6 |

A = 78 T LS WA 6

B = %% S FwdF WA 6

C = >0-&7 T 37%a1 S RYF G

D = 5¢ -3 F 73581 TS WA 6
fRfa @@ : (i) (A N D) ~ (~B) (ii) A~ (~C U D)

3. (a) Test the following argument by Venn diagram.

coaforad =t frifee gfea taret fada sz
ANBc~C
AuCcB
JANC=A
6

3089
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(b) All unicorns are dead. No unicorns are dead. Can you infer that there are no
unicorns?

e T TO| (P LTfEA IO 71 @ (T T A I WEI @ @A
el wfeg (72 ¢

(c) Are the following assumptions mutually consistent?

fsferie Refeafs [ oot semeitaa Aice waifon o

AcC
AnNnC=A
ANnB=A

(d) Prove that for all sets A and B
A~(AnB)=A~B
e A 8 B (1067 CFGa e $FF A ~ (AN B)=A~B

(e) Classify the relation of being the same height in the set of all persons
according to the properties they do or don’t have (eg. Reflexive, symmetric,
not antisymmetric, not transitive etc.).

e WA GIUOA CFGA STacda awes o (I R, Ry, e,
TS, SRS 20717 SR @ T T |

Section-1I / 98-

Answer any one question from the following:

@A-FW 9Fh uiw Tea =

4. (a) Use truth tree method to show that the following statements are consistent or
not.

HepRl simfer AR e Ryfoef maifesyf Rt fadfa vz

Both Crumm and Moriarty are guilty, if either is. If neither is guilty, then
Holmes has not bungled. Unless Holmes has bungled, exactly one of them is

guilty.

Crumm €& Moriarty 3% (i, I OIw (T T 1 I O (T2 Wi
Il 24, O Holmes SPT&ICA (offeTie] St | I Al Holmes SePT@Ic (SNeTwe
IR, ST Wy 3 aFew idh
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(b) Determine the validity by truth tree method:
SN ST W (et faefy Tz
(i) (3x)(Ax ©> Bx)/.. (3x)Ax «> (Ix)Bx

(ii) We shall swim even if it rains. Therefore we shall swim.

IR Ao 6T @i 7w IR =) oW WA Ao F63)

(c) Use truth tree method to determine the validity of the following statements:

frsfeRe Aerefem et fRdtm o Fopit & fS el Twe:
(i) Laa —» (3x)(Lax & Lxa)
(i1) (x)(Fx vGx) - [(x)Fx v (x)Gx]

5. Discuss P.K. Sen’s view on entailment.
&ifes 7H0E P.K. Sen O3 TS WA FF+ |

(Practical Vedanta / IJ3Q#F (@W%)

Answer Question No. 1 and any two from the rest within 600 words each.
ST & € TR (B-CFW 71D evaw Bew &fS voo *tara s fen
1. Answer any four questions from the following (within 150 words each).

e @-cW s1afe et Tex e (2l seo *twa W)

(a) What is the real nature of man? Explain after practical Vedanta.
2ATFHT @EWIE IR &FS T e e s ¢

(b) What is I$vara according to Vedanta? Discuss briefly after Vivekananda.
@RS A 087 B 9 REIPITCE el F03 FRTHCo P 41|

(c) What is the necessity of self-confidence as an ideal?
S-SR e i 9

(d) What is the significance of Dvaitavada in Advaita Vedanta?
TGS WA (TSNS QTG 9

3089
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(e) How is universal religion established in Practical Vedanta?

e 7fire e AT of efefPe 27 9

(f) How is the concept of self-sacrifice deduced from the nature of man?

R PO (ATF TSN 16l e 397 TR 9

(g) What are the sources of power of greatmen? Explain.

TRIFEAR *e7 T I I 2 I FFA

(h) Why do the notion of °‘Eternal Heaven’ and ‘Eternal Hell’ stand

3089

contradictory according to practical Vedanta of Swami Vivekananda?

7N REFEE I @I - a8 I R G TWEFT GRNE @A
3-Rd =7 2w0R 9

Distinguish between Atmavada and Nairatmyavada? Are they reconcilable
in Advaita Vedanta?

YR 8 (AR Y AT 6 | W7 (@IS & To7 Trwd Woag 7wy Ay
ST 9 .

How will practical Vedanta bring about the well being of a society? Discuss
after Swami Vivekananda.

AT @A FONI TTR AT IR F, OF REI7E Sopraet Icd
A 2+ |

How can Vedantic theory be the basis of ethics? Explain after Vivekananda.

@AMITTR ©F FoIF Ao fofe 2o it ©f R Spre I
Lot

What is the justification for accepting ‘Nirguna’ instead of Saguna I$wara in
the Vedantic mind of Vivekananda?

Rz ot e BE Feim 7ed e Afee Aoy i ameamet
T FCACZA?
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2.

(Dharma : Rabindranath Tagore / ¥ : I3 3157) ?

Answer Question No. 1 and any fwo from the rest within 600 words
each.

SR & @ TR (I-(FI 415 eTHd Ted @fSfb voo Wtz s fuw)
Answer any four questions from the following within 150 words each. 5x4 =20

efeRe @-@iet o1aff 2esa Sex afefd seo =t sy e

(a) Explain briefly Tagore’s concept of beauty.
FAHCL CTEOG FKCFCA T P21 |

(b) Discuss in brief, after Rabindranath Tagore the two aspects of human nature.
FAGHIACE P79 FCI T 2PToa qio e FREFCH SNCENse %641

(c) What does Tagore mean by ‘freedom’? —Discuss.
FIFTOr IS FANHAY B IRICACA 9 SN I+

(d) How does Tagore explain the Upanishadic dictum ‘Know Thyself’?
‘o R SoAfAEeeE @ TS TAEAL SO I FCACRA 9

(e) Elucidate the remark: God has made man complete by giving him misery.
TRCE 722 faa Sz weee e SRty - St i a1

(f) Why is Utsava called the festivity of power?
TORE (@ *feq TR Ie7 IR 2

(g) State Tagore’s view regarding individualism as expressed in his essay
“Tatah Kim”.

“FRmee I ToTR [ <o TN eR_0E @ 36 @A ©f I T |
(h) How does Rabindranath explain the Four Asramas?

FAHA GGARTCE ISR IR FCACA ?

“Truth manifests from bliss and bliss manifests from truth.” Explain after 15
Rabindranath.

‘Sl FFOR O AT IR O ST ZRLOR W — AN PR
ARA FPA |

10
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3. What is the distinction between the European concept of freedom and Indian 15
concept of freedom? Write following the essay, “Tatah Kim”.

W@ TATO! ¢ SReIET Ao Ty AN @RI 2 T T oS
SR B o

4. Explain the concept of Brahma-Vihara after Rabindranath. 15

AL TP FCA TR LoD [oeze )

8. “Flowerness is easy for flowers but humanity is not so easy for human 15
being” (Manusyatva). Why does Rabindranath hold this view? Explain after
him.

“S[T9IR ST SPOIY TS TZE, NI 0% TY O 72 AR | — ()
@ AT GF T FCARA 9 INHAIAE S IR JTA 61|

(Communist Manifesto / FE% MpfcFwoY)

Answer Question No. 1 and any #fwo from the rest within 600 words
each.

ST e € TR (I-CIW ¥fD erad T afefd voo *irara s fww)

i Answer any four questions from the following (within 150 words each): 5x4 =20

frsfiRe @-w o1 evim Tea e (2o seo *twra sa):

(a) What is meant by class conflictless society?
T TaRs TS &S I ([T A ?

(b) Explain briefly Marx’s concept of alienation.
Rfvere! FeT0e T F RIATS GRATRH ©f PN F76 |

(c) What do Marx and Engels mean by recurrent crisis of capitalism?
sferetaa (M e MFB LTS T @ QU FI QRIS (GTACA 2

(d) What is meant by ‘Forces of Production’?
Tesiv *fe” I00 Ft QIR 9

3089 11 Turn Over
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(e) Elucidate the main difference between Utopian socialism and Scientific
socialism.

FIEAE TGO F0 (IS HANGOCH o7 2] A 32+ |
(f) What, according to Marx, is Historical Materialism?
afsxf 38am Fee TR Fi FRIETE 2
(g) What is meant by ‘Primitive Communism’?
“Gifes A A0S F @RI 2
(h) Explain dictatorship of the Proletariat after Marx.
WEH-( TP IR FERAT GFATFOF PN I+ |

2. “The history of hitherto existing society is the history of class struggles”.
Explain after Marx.

e Ry Fee STICeE 2o g IARaNtTE 2T | RS S
FIE IR FEAN

3 What is the significance of the slogan, “Working men of all countries,
unite”? What, according to Marx, is the international task of the class today?

‘TR TEMR OF 2678 W Oleof F 2 K @ WO I FH A
Tz o T F 9

4. Give a brief account of the view of Marx and Engels about private property
and family.

o 7=oif& ¢ AT 7oItE W @ AT -3 TeAwd ah WFPe [gd
=

5. What are the modes of production and productive relation? Why are they
called the basis of society?

T 21mfS @ Teowe 7o Io0e F @RIT 2 (3 GTva TIeea fofe = 2

3089 12
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(Practical and Environmental Ethics / T732fa @3z sifara= fifsfaw

Answer Question No. 1 and any fwo from the rest within 600 words
each.

SR e WRFE € TR (F-FI 6 amd Tew aifef voo *tar s =)

- Answer any four questions from the following (within 150 words each): 5x4 =20
fefeRe - o1afe et Tex i (2fSf seo *Twm wap):

(a) Bring out the nature of human rights.
NI F5 3 )
(b) Can we justify by any means the killing of civilians in War?
@ SRS e 2oy [ @ITei Fuda 32 i 2
(c) Discuss the naﬁue of liberal feminism.
T8 AR T2 L 2
(d) Distinguish between anthropocentric and non- anthropocentric ethics.

TF-(FES @ TP UE (AOPOR N 2L (i1

(e) Do you think that suicide is a moral crime? Give reasons in favour of your
answer.

R fF GF2PR AT TN 9 W o FACF & e

(f) “No one is born a woman, she becomes a woman”— Explain the significance
of the statement.

T WA T T A, TN L S8 —Of e wieod e I |
(g) Distinguish between shallow ecology and deep ecology.
O '€ NS IWTRER W~ G F5641

(h) Give arguments in support of the conservation of nature.

2ferE A FA 7ATH & a1

3089 13 Turn Over
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(1) Do you support the principle of reservation as a means to compensate
discrimination in society?

wteif & Taee: (REce afefRuieT o s o TS 3@ ¢

(j) Explain whether killing animal is morally wrong. /

2NN (ST W (AT S F 1 — A T2 |

- What is euthanasia? What is voluntary euthanasia? Is voluntary euthanasia 4+4+7
morally justified?
T 2opt F ¢ At FFIR-2 A F 2 A T zon & AT e e
LR 9

3. What is feminism? Discuss in this connection, the nature and the role of 5+10

radical feminism.

AR TS F @R 2 @ S}X HANAY AR T2 GR P! SicaAsl
FF

4. What do you mean by terrorism? Is terrorism ethically permissible? 4+11

TEPRIV FET0S I QAN 9 FETRM I (AMSFOIR FALRT 9

o What is environment? Elucidate the nature of environmental ethics. 5+10 g
\
AR FECe It @RI 2 G2 29 AfAreisre fifSRwrz 7a91 @ Beicaifaet sicaw r
FPA|
3089 14
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Group-B
(Full Marks-50)
fem-4
- (”ﬁ?l'lﬂ-tto)
1 Write an essay on any one of the following topics of Indian Philosophy: 25x1 =25

(within 1500 to 2000 words)

s wiwa fafe Renefem g @-@F 9 fF [em S e figa:
(3¢o0 (ATF Y000 *H[HA YY)

(a) The idea of ‘self’ in Indian Philosophy.
SO WK wRSHS S|

(b) The main characteristics of Indian Philosophy except Carvaka.
I SIS S T I Wi R @it Cafigy |

(¢) Moksa in Indian Philosophy.
SRS WA (I

(d) Brahma in Samkara Vedanta and Ramanuja Vedanta.

=% 8 ANSR @RS 74 I

2. Write an essay on any one of the following topics of Indian Philosophy: 25x1 =25
(within 1500 to 2000 words):

e wimw fFEiRe Reefm g @ @ @3 it Raem B e fgae
(3@o0 (ATF Y000 *HTHA WH))

(a) Rationalist’s view on the concept of substance.
TR T R Fadiicoes 7o)
(b) Plato’s theory of form vs. Aristotle’s theory of form.

CRITOIR QIRNOG I SfFFO5(H YIANeg |
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(c) Leibnitz’s Monad.
QESIEER SO ] ;

OR /9931
Rationalism versus Empiricism regarding origin of knowledge.
IR B Raca Jam a sfewem)

(d) ‘Copernican revolution’ after Kant.

oA PR ‘st R

16
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